
-gmlock
Try*Lock

Remove

import "github.com/gogf/gf/v2/os/gmlock"

 

https://pkg.go.dev/github.com/gogf/gf/v2/os/gmlock

func Lock(key string)
func LockFunc(key string, f func())
func RLock(key string)
func RLockFunc(key string, f func())
func RUnlock(key string)
func Remove(key string)
func TryLock(key string) bool
func TryLockFunc(key string, f func()) bool
func TryRLock(key string) bool
func TryRLockFunc(key string, f func()) bool
func Unlock(key string)
type Locker
    func New() *Locker
    func (l *Locker) Clear()
    func (l *Locker) Lock(key string)
    func (l *Locker) LockFunc(key string, f func())
    func (l *Locker) RLock(key string)
    func (l *Locker) RLockFunc(key string, f func())
    func (l *Locker) RUnlock(key string)
    func (l *Locker) Remove(key string)
    func (l *Locker) TryLock(key string) bool
    func (l *Locker) TryLockFunc(key string, f func()) bool
    func (l *Locker) TryRLock(key string) bool
    func (l *Locker) TryRLockFunc(key string, f func()) bool
    func (l *Locker) Unlock(key string)
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package main

import (
    "time"
    "sync"
    "github.com/gogf/gf/v2/os/glog"
    "github.com/gogf/gf/v2/os/gmlock"
)

func main() {
    key := "lock"
    wg  := sync.WaitGroup{}
    for i := 0; i < 10; i++ {
        wg.Add(1)
        go func(i int) {
            gmlock.Lock(key)
            glog.Println(i)
            time.Sleep(time.Second)
            gmlock.Unlock(key)
            wg.Done()
        }(i)
    }
    wg.Wait()
}
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package main

import (
    "sync"
    "github.com/gogf/gf/v2/os/glog"
    "time"
    "github.com/gogf/gf/v2/os/gmlock"
)

func main() {
    key := "lock"
    wg  := sync.WaitGroup{}
    for i := 0; i < 10; i++ {
        wg.Add(1)
        go func(i int) {
            if gmlock.TryLock(key) {
                glog.Println(i)
                time.Sleep(time.Second)
                gmlock.Unlock(key)
            } else {
                glog.Println(false)
            }
            wg.Done()
        }(i)
    }
    wg.Wait()
}
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